DIRECTORATE OF SCHOOL EDUCATION
TAMILNADU

12JPCMO7 JEE PRACTICE QUESTIONS
(2023-24) (TEST-7)

Class : XII
Time: 1.15 hrs
Total Marks: 180

General Instructions:

1. The test is of 1.15 hrs duration and consists of 45 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.
2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15 Ldlmg,@L R.&G?')I_u_l 5]‘66)6UU_IITGGI' mmmugng
@ e6TSGLILIL L &MHS LMWINTeTs ChTdHemns

1. A solenoid has 2000 turns wound over a length | G rmigs  Nereumomm I — P=at(T-t).

of 0.3 m. Its cross sectional area is 1.2 x 10° m’. | o155 CHIGHOL omaTWUEHH o BHAMGLD

Around its central section of coil of 300 turns is | QeuliugHer ojamey (F@mefler LS6T STevITL6
wound. If an initial current of 2 A flowing in the L& &6l ELILL &8585 S])

solenoid is reversed in 0.25 s. The emf induced in

the solenoid will be
A)24x10*V B)24x 102V
C)48x10%V D)48x 10V

03 1§ Berepeter euflFa@HeT 6T 2000 ;

FOHMIHDET G &HTT(H6TETSl.  H6T SMIHS
Qaul (Ll ugly 12x102m2 @&, 3560T
LWL UGHemwEF &mml 300 S&MHMOSHET
FOmLUILLGH6TeTsl. aifl& & [meiT audlwins
Qevald 2 A WeTCeormLLLD, 0.25 efleormiguilev
dHT Hasuwlsdd HOUULILGEMS  ererflev
auflgamerfledor  gmevorL Ll L Wleorenl W& &

aT a2T2

A) 3R B) 3R

a’T? a’T’

© R D) 3R
. Shown in the figure is a circular loop of radius

r and resistance R. A variable magnetic field of
induction B = B ™" is established inside the coil.
If the key (K) is closed, the electrical power
developed right after closing the switch is equal to

B R
v N
A)2.4x10*V B)2.4x 1072V Yy . J
C)4.8x10%V D)4.8x 107*V
A) B%ﬂ'rz B) B37'['I'3
: . : / R
2. Magnetic flux linked with a stationary loop of A
resistance R varies with respect to time during the ) Bim’Rr! D) Biz’r!
time period T varies as follows @=at(T-t). The R R
amount of heat generated in the loop during that
time (inductance of the coil is negligible) UL &S0 STLLLULILG6TOT el L 6U6m6rT WIS S)6iT
- QLT r MHoID WeTsemL R, S@herfler 2 aTCer
A) % B) a3l"l{“ DIM&FIGW  STHSUILE ST B =Be*
Bloeuul GeTengl.  gFmedll K el Ul Lmev
LT LT Flllem& eplqul 2 | GeoT 2 (HheuméaLILIL L Loleor
O R D) 5r UMMV THMHES FLOTS @) [HEGLD.
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A Béﬂ'l‘z
) R

Bi7’Rr ort
)] — R D) R

4. Two solenoids of equal numbers of turns have
their lengths and the radii in the same ratio. The
ratio of their self-inductance will be

A)l:2 B)2:1

Ol1:1 D)1:4

FLD eTevoTeoui &6 U6y &M mIss 66T 685 meorL
@ reoor(h eurflEa (Herfledr HETD LDMMID QLT IS 6T
RCT NHHEHH 2 6TeTer. 6me6Us6rler & 6or

LSl 60T HImevoT L6V & 6rTl6tT & G510
A)l:2 B)2:1
O1:1 D)1:4

5. A 800 turns coil of effective area 0.05 m? is kept
perpendicular to a magnetic field 5 x 10> T. when
the plane of the coil is rotated by 90° around any
of'its coplanar axis in 0.1 s, the emf induced in the
coil will be
A2V B)02V (0)2x103V.  D)0.02V

005 m?2 UFUL 800 &FMMISGEHLD G &TeoorL

SOF&@meT &MHSL Levld 5x10°5T &

QEFRIGSSMSH MaG&SLILOR M. &SU&F

Fmerfledt SeTinmeotal 0.1 ellermiquiley 3JSeT

H6T FF L 90° FLpmMmIh GLIMG SmevorL_LiLI(HLD

L eoTenfl W& & ellem & ull6tT 26y
A2V B)02V (O)2x10°V D)0.02V

6. The magnetic potential energy stored in certain
inductor is 25 mJ, when the current in the inductor

1s 60 mA. This inductor of inductance
A)0.138 H B) 138.88 H

C) 13.89 H D) 1.389 H

Copyright @ THE ALCHEMIST CONSULTANCY

6T Smevoriquiley LOTGEOTITLLID 60 MA 218
@ (H&G LD BUMEI Ll esTamevor 19.ull6L GF LAl & & LILI(H LD
&MHS Blenev MM 25 m) eTesflev @ b5 Loleor
Smevor 19Ul 60T Smevor L6V DG LIL]

A)0.138 H B) 138.88 H

C)13.89H D) 1.389 H

7. A long solenoid has 1000 turns, when a current
of 4 A flown through it, the magnetic flux linked
with each turn of the solenoid is 4 x 107 wb. The
self-inductance of the solenoid is

A)4H B)3 H

C)2H D)1 H
@m el euflF  &@merfledr &M misserleor
eTeooreool 16608 1000. HeoT  auPdlluims 4 A
WOleoTGeor LD~ UMW  GUTEl  R6IQ6UT(IH
GOMed @emeura&LILLL  &SMHSL LMWL

4x103%wb  ereoflev &G sr@perfleor  geor
LSl 6BTSIT600T L_6V

A)4H B)3H

C)2H D)1 H

8. A conductive circular loop is placed in a uniform
magnetic field, B=0.025 T, with its plane
perpendicular to the loop. The radius of the loop is
made to shrink at a constant rate of 1 mms~!. The
induced emf when the radius is 2 cm is

A)2mu V B) mu V

C) Zuv D)2uV

Frmeor &SMHSLILEVD B=0.025T Q&ML 6(H
ALl eemeTw &LEH &MHE SHISHMHG
QEFRIGHSTEH almeTWsHTHer <prm 1 Wl
afleormiqa"  etedTm  Blemevwimesr  NHFSHEH 6V
GHEBIGLULN QFUWLLUGRME. 2 QF.L5 9T
@Q@EGL GUTg SmevorL UL L Wlereollwe S
allen & Wi meorg!

A)2nn V B)nu V

C) %,,,,v D) 2uV



9. Force acting on a particle moving in a straight
line varies with the velocities of the particle as F
= K/v. Where K is constant. The work done by
this force in time t is

A) B
v
B) Kt

C) 2Kt

D) 2§

CBICHTL (D Limen g uilev 58 ([HLD & (H
Qum@erfledr 158 QFWLLIRLWD  ellemnd W mers)
IHS QUMBETlear HensFCasHESamsE GLIMTMISSI
F= K/v nmoiu®SHma. @i K ererLig omniled.
t BTV @b alleFuwmy QauiwiulL
Geuemev

A) Kt
) 52
B) Kt
C) 2Kt
2K

D) V2

10. A body is initially at rest. It undergoes one —
dimensional motion with constant acceleration.
The power delivered to it at time t is proportional
to

A)t B) t C) t¥? D) t'?

QBMLESHSFHV @@ QLIMTIHET 6ule] Mmlemevuiey

o aTengl. ErmeT WHSHHSH HS QUITHET

@@ Uflinmer QUSHESHSHMEG 2 L LGSBImSI. t

HTVHHO bF CQUTHEBHSGSG 6UPHIGLILGILD

ST THMES CHISSH66L @BSHGLD

A)t B) t?

C) t3/2 D) t1/2

11. A body of mass 4 Kg is moving with momentum
of 8 kgms™. A force of 0.2 N acts on it in the
direction of motion of the body for 10 s. The
increase in kinetic energy is

A)10] B)8.51J

C)45] D)4J

4 Kg BlemmU|6TeT 62(h QILIMH6T 8 kgm™ 2 555 5 6L
&M M. 0.2 N ellen & WIMTeTS & @ LIMHerfleor
5g  QUT@BET BEHEGLL Heangule 10s-5G
QEWLIHH M 6Tevfleh @UIHE QMM 2 W6

A)10]J B)8&8.51J

0)45] D)4J

12. A force F acting on an object varies with distance
x as shown in the figure. The work done by the
force in moving the object from x=0 and x=20

m is
A
100
é 75+ :
= 50t :
25T :
O 1 1 )
5 10 15 20
X(inm) —3p
A) 10007] B) 2000 J
C)5001J D) 15001J

QUMBET etTMleT 158 QFWOLLMHLD Nlens F I ersl
QBTEMEVE] X 83 QUITHSH S LIL &G 6T &ITLIQ.U|6TeTeumm
WIDLOS MG x=0 N6 BB S x=20 L5-5EG GLITIHN6T
BHJEHS G & UIWLILIL GalevoTlq Ul G6l6t6VUTETS

' >
5 10 15 20

X(inm) —3p
A) 1000 J B) 2000 J
C) 500J D) 1500

13. Water is flowing in a river at 2 ms™'. The river is
50 m wide and has an average depth of 5 m. The
power available from the current in the river is
(density of water = 1000 kgm)

A) 1 MW
B) 2 MW
C) 1.5 MW

D) 0.5 MW

B&H eeTmlev 2 ms' eTedTm o6emellel & 6voT600t
UTWUSmE. @bs BH  50m S&Heu(pld
Frreflumg 5m QWM Q& TeooTLSl. HHulleor
BCITLEHermed R &G Hmesr  (Hrfleor
SILTSS - 1000 kgm3)
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A) 1 MW
B) 2 MW
C) 1.5 MW

D) 0.5 MW

14. The sun radiates energy at the rate of 3.77 x 10%*
Js7!. The loss of mass it suffers per second is

A)41.9x 10° kg B) 1.29x 10" kg

C)419x10%¢g D) 1.29x 10" g
Gflwer  377x10% s eareorm  NFRFHHH 6L
LMHMemeL Q&MTHI&HR M 6Tevflev 62 (H el 6oTTIq U6V
gOUGLD SbOMEV GLoLiL]

A)41.9x 10°kg B) 1.29 x 10" kg

C)419x10%g D) 1.29x 10 g

15. Two bodies of masses 4 kg and 5 kg are moving
with equal momentum. Then the ratio of their
respective kinetic energies is

A)4:5 B)1:2

C)5:4 D)2:1

4 kg LDMMID 5 kg BlemmueTem @aH GILIMIH6ITE: 6T
FID 2 [6HSHSIL60T BSHIHSHTMET 6Teuilel 860

@W&Es Mmmedler & sLD.
A)4:5 B)1:2
C)5:4 D)2:1

| CHEMISTRY Q.No. 16 to 30 |

16. Which of the following graph represents
adsorption (where x-amt of gas taken, m- mass
of solid, p — gas pressure)

Vaml
x/m
P—
B) 1
x/m
P —
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C) x/m

Iﬁ 1’7

. T
) x/m
G LD G G 600TL QUEm T LIL MBS 6rflev 6TSl
W]y JNHT:S SHaUJFF WIS GSMEH M. (x

T &SIGQS&METETLILL L eumuwjelledr o6ma), m
He0oT LD SHN6IT BleOM, p - QUMW SRS SLD)

Ay T

X/m

x/m

C) x/m

—

I Ny

D) x/m

17. The volume of gases H,, CH, CO, and NH,
adsorbed by 1 g of charcoal at 288K are in the
order of

A)CO,>NH,>H, > CH,
B) NH, > CO, > CH, > H,
C) CO,>NH, >CH, > H,

D) CH, > CO, > NH, > H,



H, CH, CO, ommitb NH, GumeTmenel 1g &iflufley
288k QauLliLplemevudlev LITLILG SeuFliLBHSHms!.
QUMW S S 6rfleiT S60T 266 aUflendFenl eT(pss

A)CO,>NH, >H, > CH,

B) NH, > CO, > CH, > H,

C) CO,>NH,>CH,>H,

D) CH,>CO,>NH, > H,

18. The amount of gas adsorbed physically on
charcoal

A) Increases with pressure and decreases with
temperature

B) Increases with temperature and decreases with
pressure

C) Increases with temperature and pressure

D) Increases either temperature or pressure

sifluller 15g @QuwMLlwey wemmULLg LTl
STl euru]edesr mlemm

A AWHSD 91556 EICLMSID, QeullLIBlemney
G6emmULD GUIMSILD

B) Q6uLILIBlem6vU]L60T 2 VBRMS,
SAWSHHIIL 6T GODH DI
C) Qauliumplemey  WOHMID (PSS 60T

9B sf&H g

D) QauLiLIBlemev
2 WBH DS

SVVE (DS SHSESIL 60T

19. Adsorption of gases on solid surface is generally
exothermic because

A) Enthalpy is positive
B) Entropy decreases
C) Entropy increases

D) Free energy increases

SHeugUU@ILD
QeuLILILD o 14p

GeoTngHeor  LFLLNeL  eumuy
B15 D& QUITSIEUTS
aflemeoTWIM@LD. 6T Gl6uTenf16v

A) eT6TsmeuLl BTG MIWem LS
B) eTedoTL_C Ll Gemnm & mal
Q) etadr_ Gl oS & fl&HR e

D) &L.196060T 2 MMEL AHH&F&ESH MG

20. A plot of log x/m vs log P for the adsorption of
a gas on a solid gives a straight line with slope

equal to

A) I/n B) log k

C) —logk D)n
FlevorlnGHeoT  Gev  UFLL  Seuglu@®Ld
muelm@ log x/m WOMILD log p @TEITYNHS
QenLGu QUEMTLIL LD GUEM T W LD Gumsl
P &G CHICHTL 96T &Fifla] THEMEGE FLLD?

A) 1/n B) log k

C)-logk D)n

21. Which of the following is Incorrect?

1. Catalyst undergoes permanent chemical change
2. Particle size of solute in true solutions is 10~ m.
3. Starch solution is hydrosol

4. Hydrolysis of liquid ester in presence of mineral
acid is an example of heterogeneous catalysis

reaction
A)1,2and3 B)2 and 3

C)1,2and 4 D)2,3and 4

FLD GG E0TLAIMNI6V 6TS &eUMTEOTSI?

1. llemeTCeuss o BlTbHSTLOMS
CauHallemers@ 2 L LIGQS M
2.2 GOOTEMING  HOIFSHAI eI LITHET

Slserfler ojeme| 103 m

3. 6VLITIE &en&Fev HT HIeuss Fnlplold &L

4. B 6TV 6m T &HeoflLn EY[Ta\[3))
Wereflemevuiey BomHUGSHSWL  ellemeor
LeoUlgssmer  allemerCeuds WLDTMHMSH M &S
THHSIHHTLLTGLD.
A) 1,2 LnMMILD 3 B) 2 LDMMILD 3

Q) 1,2 lnmmILD 4 D) 2,3 lnmMmILh 4

22. The process, which is catalysed by one of the
products called
A) Acid base catalysis
B) Negative catalysis
C) Positive catalysis

D) Autocatalysis
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allemer allemeT QUT@BeTlL eeeoTm ellemerTGouss
WLTOHMIWTES QFWeLIHILD (Wenmuiler Quwy

A) giflev & ellemerGeuss LM
B) 66y elemenrGeuss Lommnil
Q) 26155 allemeoTGeuds MMl
D) St ellemeotGeuss Lnmmndl
23. Which one of the following is an example of
homogeneous catalytic reaction
A) SO,, Oxidised to SO, in Contact process
B) Preparation of NH, in Haber’s process
C) SO,, Oxidised to SO, in lead chamber process
D) NH,, Oxidised to NO, in Ostwald process

GpE&seoTl UMMl & UBLIG &S TeT
aflemerCals IDMTMMESH MG 6T S BHHHTL(H

A QsT®h  wenmuiey SO, SO, 2UsH
SL,GMIRCETMMLD {6056V

B) Gamuf (pemmuiley NH, wimiflssev

0) Qv Gebuy wenmuilev SO, SO, <&
21,86r992C6TMMLD {60556V

D) @peveumeul.  pemmuiley NH, NO, <48

21L,&6r13G6TMHMLD {60556V

24. What is the equation form of Langmuir isotherm
under high pressure.

A) x/m = a/b
B) x/m=a.b
C)x/m=1/a.P
D) x/m =Db/a

5 & (WESHS5H 6V ITHEIG T FLOR6ILILIBlem6V
G&HITL19.60T FLOGOTLIM() WIMSI?

A) x/m = a/b
B) x/m=a.b
C)x/m=1/a.P
D) x/m =Db/a

25. Assertion : Rate of the reaction is increased by
catalysis

Reason : Catalyst changes the value of AG® in to

more negative.
Copyright @ THE ALCHEMIST CONSULTANCY

A) (A)and(R)are correct. Risacorrectexplanation
of A

B) (A) and (R) are correct, R is not a correct
explanation of A

C) (A) is correct but (R) is wrong
D) (A) and (R) both are wrong

(FaMmI) @m eolemeruller ealeneTGalssLD
aflemeTCouss mmiluileormev
aflsuuESSILGH DS

&ITTeoorid : ellemerCGeuds MM AG-60T DG 16mLI
5 & THT G ISTHE QFURMSI.

A)(A) LoD R) @reor@Ww &ifl, (R), (A) er
Fiflwmer elleTs LD

B)(A) mMID (R) @uesor®d &ifl, Sueormev (R),
(A)-60r Frflwimeot alemd&Ln6v6v

Q) (A) &fl Sp6euTITeL (R) Houm

D) (A) LoMMID (R) @ Tevor(HLD SHeum

26. Which one of the following is not applicable to
the phenomenon of adsorption?

A) AH >0 B)AG <O

C)AS<O D)AH <O

LNetTaumeucoraimmiley  6Th& BISGLe LTLILE

SHOUTFH &G QLIMTIBHSTSHI?
A) AH >0 B)AG<O

C)AS<O D)AH<O

27. Which of the following is an example of
absorption?

A) water on silica gel
B) water on calcium chloride
C) Hydrogen on finely divided Nickel

D) Oxygen on metal surface

LD 8 56007 e MNl6L 6TS
T HSIGHTLLTGLD.

o MlEh&FHNEHES

A) Rl Qg6 15a B

B) MeE WL &Cermemnp(h W& BT



C) IF6OT@ SMeTME&LILILL Bl&&He060r g BT
D) 2_Geumd LIFLILN6oT L& 21,8 6rde60T
28. If x is the amount of adsorbate and m is the

amount of adsorbent which of the following
relation is not related to adsorption process.

A) P=f(T) at const (x/m)

B)xm=PxT

C) x/m =1(P) const T

D) x/m = f(T) const P
X eTedT LG LITLIL &8 6T LU G QLTI eresr ojemey
MHMID M eTedTLS UTLILS Seu@hd QU perfledr

|6T6Y 6T60f16V LI 6dTeu (HeusoTel M6V 6THS Q&ML [FL
LUTLULE SHeUTHNGHES QSTLTLDMLWIS 48 TSHI?

A) P = f(T) Lompiled) (x/m)
B)yx/m=PxT

Q) x/m = f(P) Lnmiledl T
D) x/m = f(T) tnmaledl P

29. Number of layers adsorbed in chemical adsorption
is

A) zero B) one

C) Two D) infinite
Gaumulwer UFlYSSTEHWm  UTLLs
SaUTLLGLEUTS 2 (HauTGLD 3|(h\&ES&H6T

A) Lgglwid B) gedT!

) @uetor(h D) wrig6fled

30. Which one of the following is an example of
induced catalysis?

B) 5H,C,0,+2KMnO,+3H,S0, ——
2MnSO +K SO +10CO_+8H,0

C) Na,ASO,+ Na,SO,+ O,— Na,ASO,+Na,SO,

D) ¢, H,0,+HO——CH,O0+CH,O

127722711 6771276 6771276

261555 aflemer Ceuss MmN & &
T SHSIEHTL(H

e (®

B) 5H,C,0,+2KMnO,+3H,S0,
2MnSO,+K,SO,+10CO,+8H,0

C) Na,ASO,+ Na,SO,+ O, — Na,ASO,+Na SO,

D) C,H,0,+HO0——CH,O0-+CH,O

127722711 6 1276 6771276

MATHS Q.No. 31 to 45

31. The integral jM X —=3x—7x*—x+1 is

2 dX
COS’X
equal to o
A)9/2 B) +3
C)2 D) 1/2
/4 9 3 5 7 3 + 1 . .
[ X =X gy @eir @Iy
-, COS X
A)9/2 B) +3
0)2 D) 1/2
10
32. f |sin x|dx is
0
A) 20 B) 8
C) 10 D) 18
10
f |sinx|dx =
0
A) 20 B) 8
C) 10 D) 18
4Ar d
. X .
33. The integral Of cos'X (2 + tan’x) is equal to
A) 2\2n B) 4n
C) 4\2n D) 2n
Ar
/‘ dx _
J cos’x(2 +tan’x)
A) 2\2n B) 4n
C) 4\2n D) 2n
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34. If f(0)=1, f(2)=3, f'(2)=5 then find the value of
1
f xf'' (2x)dx
0

A)2 B) 6

Q) 12 D) 4

£(0)=1, f(2)=3, F'(2)=5 eTedfl6v fxt“(zx)dx-a'ﬂ G

A)2 B)6

Q) 12 D) 4

35.1f [x] denotes the greatest integer less then or

equal to x, then the value of the integral / [x*]dx
is ’

A) 22

B) 2-+\2

C) V2-1

D) —2—3+5

X] eTedTLg WIQUI (WPWESET &ML erefley
2

/[Xz]dx=

A) 22
B) 2+12
C) V2-1
D) —V2-V3+5

36_/|sinx+cosx|dx=
0

A)\2 B) 212

C) 3\2 D) None of these

T
flsinx+c0sx|dx=
0

A) V2 B) 22

Q) 3\2 D) @eummlev gaiLilevemev
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6
) \/;dx )
37. The value of the integral | ——— is
s 3f Vo—x+yx
A)1/2 B) 372
C)2 D)1
6
\/;dx . .
—F———  — -60I LD&ILI
3/ B —x+/x gy
A)1/2 B) 3/2
02 D)1
4|%

38. The value of the integral f |cos x|dx is
0

1 1
20— == 20+ ——=
A) /2 B) 20 72
1 1
Q) 19+—— D) 19 ——=
A NG
ag
/ |cos x | dx -60T LDGILIL
0
1 1
20——7—= +—=
A) ﬁ B) 20 /2
1 1
0 19+—F— D) 19 ——=
L @2 NG
39. The sum of n terms of the sequence log a, log ar,
logar’, ...... is

1

A) %log ar"
B) nlog a’r™"'
C) 37n10g a’r™!
D) None of these

log a, log ar, log ar? ...... 6T60TM QST Femnmuiesr n
2_mILIL&6T euemguilevmeot Fu.(h &6V

A) %log ar"
B)nlog a’r™'

0 37nlog a’r™!

D) @eumnlev g&idlevemney



40. The H.M. of two numbers is 4. If their A.M is A
and G.M is G satisfy the relation 2A + G* =27,
then the numbers are

A)1,4
B)3,6
0)2,8
D)5, 10

@\ eTevorgeledr HM. opersl 4, eumnilesr AM.
216018 A, G.M. 9L6eoT&l G LoMMILD 2A+G2=27 6T6df16V
9|6 Q61 600TSH 6T

A)l,4

B)3,6

0)2,8

D)5, 10

41. The value 2448 816 o 1s

A) 1 B)2
C) 3/2 D)4
214 418 816 o687 LOBILILY
A) 1 B)2
C) 3/2 D)4

42. In a AABC, if cot A, cot B, cot C are is A.P. then
a2, b?, ¢? are in

A) AP B) G.P
C)H.P D)A.G.P

AABC-6V cot A, cot B, cot C eredrLI6oT A.P. 6Tenfl6v a2, b2,
% 6TGOTLIGOT 62(ThH

A) AP B) G.P
C)H.P D) A.G.P

43.1In a G.P. of positive integral term a *+a*+a’ =
33033,a +a, +a, =

A) 231
B) 331
C) 431
D) 131

RO OUBGSHGSS QSHTLIF6 eLeiTm 2 MILILISET a,,
a, a, LDMHMID a + a,2+ a,? =33033 eTevfl6v a, + a, + ¢, =

A)231
B) 331
C) 431
D) 131
44. The minimum value of 4 + 4 is
Al
B) 2
C)4
D)8

457X 4 45 65T P @Il DG

A)l

B) 2

)4

D) 8
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